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INSTRUCTIONS

1. Do not write anything on this question paper.
2. Answer question ONE [1] [COMPULSORY and any other TWO [2].

QUESTION ONE

a) Sunshine Lid., uses job costing. The following data s provided from
the year ending 31% Dec 2004

KSH
Direct materials 300000
Direct wages 150,000
Factory overheads 165,000
Administration overheads 165,000
Selling and distribution overheads 120,000
Profit 225,000

1) Prepare a j0b cost sheet indicating prime Cost, WOrks cost, pro
t

cost of sales and sales value (6mks)

1) in 2005, the company re ived an order tor a numb
that w'.kl|w,:l‘l|_\|-l\\llHl\'\!"\l“". Ksh 420, a
1RO 000 What price the company should charge for these jobs 11 1
ampany intends to eamn the same rate of prolit sales as 2004 a
that selling and distribution ove eads |
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and administration and selhng overheads as a percentage of works cost
(Bmlcs)

b) Txplain the differences between cost accounting and financial accounting (8mks)
) Fxplain the following terms as used in cost nccounting

1) Cost centre (2imks)
i) Overhends (2imles)
i) Direct materinly (2mks)

iv) Budgeting (2mks)

QUESTION TWO
) From the following pacticulnn prepaore stores ledger account showing
the pricing of wmatenial issues under simple average method
28 LV opening stock 80O units (@ kah 55
VR purchased 800 units (@ ksh 61
AR assued 1200 units
O-R- 13 purchased 1600 units @ksh 51
J-8-13 issued 1,000 units
9-8-13 purchased 400 un ts @ ksh 45
11-8-13 issued 800 units
13-8-13 issued 100 units
15-8-13 purchased 500 uts @ ksh 67
®) Define labour turnover? Fxplain the lhrcc_ causes of labour tum
QUESTION THREE

a) A product passes through three of process X, Y and Z to its completion. Durin

September 2005, 15,000 units of finished goods were produced and the

following expenses were incurred:

T [PROCESSX [PROCESSY |PROCEESZ
KSH KSH KSH
[ Materials | 15,000  [30,000  lis000
I l)l[(;!Ll wages 75.000 60.000 I -
; Direct Waggs ¢ . |, M1k 7,500 9,000 Mt

Indirect expenses amounted to ksh 90,000 which are to be apportioned to the
process on the basis of direct wages. Raw materials worth ksh 90,000 were
1ssued to Process i g
I'.’(_‘I‘ull!' process accounts showine cos! per unit i each Process | 1 2mks)

by | X plain the .ui'..nt(_lg,': 8 ol cost accounhing to the 1.‘310\\‘.:‘1&1
1) Management (2ml
1i) Creditors (Jmks)

Public (2mks)

i ll'!'{\ vees (Jmks)




QUESTION FOUR

a) The sales turnover and profit during the two years were as follows:

_\’EAR_ i g SALF S PROFIT
2001 R B 0T T R 150,000
2002 [1,600,000 " 1200000
Calculate
1) Profit Volume (7V) ratio (2mks)

1) Break-cven- ot (dmks)

) Sales required to eamn n profit of ksh 400,000 3mks)

i) Fixed expenses (2mks)

v) Profit when sales are ksh 1,200,000(3mks)

b) Explain six principles involved in apportionment of overheads (6mks)

QUESTION FIVE

a). Bideo manufacturing company Itd has four production departments and t#o

service departments. The particulars of the expense of the respective

departments are as follows:

"PRODUCTICN DEPARTMENT (KSH) SERVICE DEPARTMENT

; (KSH)

LA 10,000 Transport 5,500
'B 9,900 Power Supply 3,800
IC 8.000

'D 7,000

The service dcpaﬂmem § eXpenses are charged out on a perceniage as Zven

below:
| [ PRODUCTION DEPARTMENT ‘ SERVICE
: i ‘ DEPARTMENT
AR U 5 ﬁ \\\mm PSUPPLY
i | =
i oo - - — - ' = | =
| Transport 1 IH o 0% 20%0 20% | | 20%
. Wi : e
| . Q y ()} Q 00 1 (% |
| Power ﬁupph ' 3 (% 20% W% | U%e { It i
From the ghove !gu[!-‘_ul,ny .\i-!h'{lhill the service \l.\‘{‘_'.!f!‘,'.t.‘[!’. eXpenses o
various production departments Using algebraic equation method (14mks)
\ Faplain the ditterences between 1'.‘..12:._21‘..1: COSLINE and -1::'%-;;-[‘;“’..:“' cosung
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